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Answer Section A and one question from Section B.

Section A: Prescribed Literature

1 Read the passages and answer all the guestions.

(i)

(a)

sya) oot, aq{m, v} oV Al spm @ Ea)xpareg, olov yé pot ¢aweml :rroit/lamg
yap ovvapxo,ue@a nves &l raurov :rapanﬂ.nmav nluctav sxovrsg,
5:acra)¢’ovres; mv nazlatav ﬂapoz,uzav. ot oV mlaw'rm UV oﬂ.o¢upovmz
cruwovws;, ras gv m vgomn néovas; aroGouvrgg Kal avapwvnoxoysvoz :rrspt T
raqﬁpo&cna Kol m;p: ndTOUS KOl sva)xtag Kot QAN a'rm a rcuv 'co:ourcov Eyeta,
Kol ayavafcroumv s usyaﬁwv 'avcov arraorepnpavm Kol TOTE UV €D Ca)weg,
VOV 8¢ ovde varss ewoz 8¢ Jca: Tas raw oncsm)v :rrpoxn}lamcs:s ’L'Ol) yupa)s‘
o5upovraz Kol gm rov'ra) 617 'ro ynpag u,uvouo:v ooV Karca)v G@Sto‘tv amov ez
yocp v 'rour’ ocmov, KQv gyd Ta adTe TaDTA aneyrovﬂn, Bvexa ye ynpcog, Ko
01 aMoz navras doot avrav@a nAfov n}umas vuv & Eyaye N16n avrswxmca
ovy oura)g s;goumv tcou aMozg, Kaz 61] Kol Zoqﬁorc/"uez ToTE rco noznm
napsysvoynv epa)m)ysvw ORG nvos, “ming”, sqﬁn, a) Zoq’rox}l.stg, E:xgtg npog
taquo&ma Fu oxos‘ 1€ &l yovaua ovyyzyvsoﬂaz Kou oS, suqbn,uat gdny, “@
av@pame. aoyevsoram ,uSWOL au*to aﬁggbuyov OOnEP Avr'ra)vra TvQ K(XI
aypzov 5£<momv ano¢uywv EU oDV ot Kol rms e&oésv srcswog emsw Kou
vuv ovy nﬂ'ov TOVTOmOoL yop TGV ye To100T@v év 1@ ynpa moAd eipnvn
yiyveran xai £Alsvlepia.

Plato, Repubiic |. 329a1 — 329d2
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How does Plato in this passage create a lively picture of the complaints of the old men, and

Kephalos' own attitude to old age?

[25]

You are reminded that marks are awarded for the quality of written communication of
your answer.




(ii) ro&e 58 mcsq/wpsﬂa ap ovx o nara‘g’az Sevotaros &v pdyn Eite nUKTKT
gite Tvi kal &AAR, oDtos kal guldéachor;

Havv ys.
SAavU . o e
"Ap’obv Kkal voocov dous dewvos dulaéacBar, kai Aabelv obtos Sewvdtatos
r
éy:rroxncras,’ 5

E,uo:ys 501(81
‘AN pnv o*rparons6ou ¥e 0 am’og gbuﬂ.aé aya@os' OonEp Kol TA TOV
roAsuiov kAéyon xai PovAeduara xai tas dAlas npates;
Iavo ye.
“Orov Tig dpor Ssrvos POARE, TobToL Kail Pdp Sevds. 10
“Eoikev.
Ei dpa 0 Sikouos dpydptov Setvos guddrtewy, xoi KAETTELY SE1VOs.
‘Qs yobv 6 Adyos, &gn, onuaiver. .
Klémmns dpa mis 0 dikaros, os Eoikev, avansdavrar, kai kivdvveders mop’
’O,uﬁpou yspa@mcévat adtd. Kol yap ércs?vos 'cc‘)v 70D ’O&uooéa)s mpos 15 ‘
ynrpog ooV ADTOAUKOV ayana 1€ Kol q.’mow anTov mxvms' av@pwﬂoug
kexaofor K/"Lgmoouvn 9’ OpK® 1€, EOIKEV 0LV 1) &fcaloovvn Kol rca'ca o€ Kal
Kol Opnpov Kol Kara Zz,ua)vzénv fcﬂ,snﬂxn TS gival, £n° ogeliq usviot TV
q’ni{wv Ka: ém ﬁﬂ.aﬁn WV axﬂpwv oux om’a)g /18}'819,
OO pac wov AP, Edn, GAX ovkén olda Eywye bu Edeyov. , 20

Plato, Republic 1. 333e3 — 334b3

(b) By what means does Sokrates in this passage reduce Polemarchos to a state of confusion
about his own opinions? [25]

You are reminded that marks are awarded for the quality of written communication of
your answer.

Section A Total [50]

[Turn over




Section B: Language

Answer either Question 2 or Question 3.

Unprepared Translation and Comprehension

2 Read the passage and answer all the questions.

Cyrus condemns to death the traitor Orontas.

“And did you betray me a second time?” Cyrus asked. Orontas
admitted that he had. “So in what way had you been wronged by me

to make you betray me again?”

§ImOVTOoS 5&\‘ 00 'Opéviov om oééév o’tc?nansfg, NPAOTNOEY O
Kupos am'ov “o,uO/’LO)fStg odV ﬂspl éue a&xos ysysvno@al‘”
n yop avayicn eqﬁn 0 Opovras £k tobtov maAv npwmo&‘v
%) Kupos, sﬂ odv ocv ysvmo @ s,ua) a58/’l,¢a) nolsmog, s,uoz
S¢ q’)titos ;cou miotos,” O 8¢ ansxpwa'co “o0& &l ysvox,unv ®
Kups oot yav RoTE sn 5o§az,m J"L',OOS‘ raura Kopos eire tois
mxpoucnv, “0 ,usv avnp TOLVTAL UHEV nen:omrcs rozaura 58
Agyer. U,ua)v 8¢ o npa)'rog, ) K/’Lsapxe anodnvar yvco,unv o ‘u
oot Sokel.” K/lsapxos 8¢ sins raée cmyﬁouitsua) £ym 'rov
avépa 10DTOV EKTOSWV ﬂOEEtOQ(Zl s raxtora orrcos‘ ,urpcau
8én tobrov ¢U/’La‘rc809at.’ raum 5¢ 0] yva),un Kol of dAAot
frpoasesvro ,uera raura Ks/lguovrog Ku,oov, eﬂaﬁov ms
¢avns' tov Opovrav émi 9avou'aJ AMOVTES avaaravreg rcou ot
ovyyavszs alra 5 séjmfov abTov ois npooarax@n énet 58
gidov am:ov omsp n'pooﬂav npoosxuvoz)v 2 xai rors
:rrpooa:cvvncav Kamsp 8l50’t.’89 on éml Bavarov &yorro sarsz
5¢ &is mv Ap‘ranarou om]vnv squ@n, ,usrcc raura olte
Ca)vra Opovrav olre re@vmcora o0dsls &0 nwnors, o
Onws omébavev ovSgls et&og eitsysv gikalov 8¢ dAdot
dAAws. Tdpos 8¢ oddsis mdmote avTOD EPavy.
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Xenophon, Anabasis 1.6.8-11

belt {the gesture described here is one of condemnation)
[ bow down




(a) Explain the grammar of the phrase girdvros 8¢ tob ‘Opdvrov (line 1). [2]
(b) (i} What part of what verb is yeyevijofai (line 2)? [2]
(i) Why is this part used here? [1]

(c) What verbs do the following come from:

(i) npwdrnoev (line 1); [1]
(i) &&fyov (line 14); [1]
(i) mpooetdydn (line 14)? M]
(d) Give an idiomatic translation of 7} yap avdykry (line 3). [3]

(e) Translate lines 4-14 (7t oDV Av yévoro ... cvyyevets) into English.

Remember that extra credit will be given for good English. Please write your translation on
alternate lines. [30]

() émel 8¢ sidov ... Bdvarov dyorro (lines 14-16):
(i) what surprising fact is Xenophon remarking on here? [2]
(ii) suggest why he remarks on it. [

(g) énel 8¢ eis ... édavn (lines 16-20): show how in these lines, by use of language and
content, Xenophon emphasises the mystery surrounding the fate of Orontas.
Make three points and refer closely to the Greek in your answer. [6]

[50]
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Do not answer this question if you have already answered Question 2.

Prose Composition

3 Translate the following passage into Greek prose. Please write your translation on alternate
lines. You are reminded that marks will be awarded for the style of your translation.

Kleomenes said this and went home, but Aristagoras followed him. When he
reached the house, Kleomenes happened to be playing’ with his daughter,
who was still a child. Seeing her, Aristagoras asked Kleomenes to send her

out so that he could converse with him alone. But Kleomenes told him to say

what he wanted in the presence of the child. So Aristagoras tried to persuade

him with money to help the lonians, and when Kleomenes refused, he
promised him more. Suddenly the girl cried out, “Father, you must go out at
once, or the stranger will corrupt? you.” Kleomenes therefore did go out, and

Aristagoras was forced to leave Sparta without achieving anything.

Names

Kleomenes
Aristagoras
lonians
Sparta

Words

' I play
2] corrupt

o Kisouévns, tob Kdeouévovs

0 "Apiotayopas, Tob *Aptetaydpou
ol "Ioves (dat pl tots "Iwat) -

1 Zropm

nailw
StapOsipw  (future Stadbepid)

[50]
Section B Total [50]

Paper Total [100]
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Section A

Question
Number

Answer

Max
Mark

Answers must be marked using the level descriptors in the marking grids
and a mark awarded for each Assessment Objective. The following points
are indicative and offer question specific guidance.

1(a)

How does Plato in this passage create a lively picture of the
complaints of the old men, and Kephalos’ own attitude to old age?

The old men meet together and when they do meet together all most of
them can do is moan...

Emphasis on what they miss: fjdovas ... tagpodioa, reinforced by
list: repeated znspt

reference to their longings moBobvres and their reminiscing
dyavaikroborv: they are cross at what they miss;

deprived drectspnusvor of what they think are important things
HEYAAWDV. '

Most forcefully expressed in 101¢ ... Cdvres with its antithesis, and
contrast between then and now and well and ill.

They moan oo about the insults they get from their families, and drone
on duvodory about it all.

kQv &y o adta tabra ... with reinforcement of the ‘I' later in vov &
Eywye ... (contrast pointed here too).

Not only himself, though but also others kai 57} kai Sophocles, no
less; and this isn’t hearsay, Kephalos was there in person, and tells it in
direct speech.

Sophocles’ appalled response, as if to a blasphemy goPnuet,

the great pleasure with which he’s left all this behind Gousvéorara.
anégvyov repeated with droguydv, he has escaped as if a runaway
slave from Avttdvid ... &yptov Ssomomny.

His contrasting present state: zoAls} siprjvn ... kai Aevbepia.

[25]




Section A

Question
Number

Answer

Max
Mark

Answers must be marked using the level descriptors in the marking grids
and a mark awarded for each Assessment Objective. The following points
are indicative and offer question specific guidance.

1(b)

By what means does Sokrates in this passage reduce Polemarchos
to a state of confusion about his own opinions?

S is here making P agree that justice is ‘a kind of thievery that is in the

interests of one’s friends and to the detriment of one’s enemies’, which is

not at all what P means. His argument is as follows:

« if you're good at attacking you're good at defending:

¢ if you're good at stopping diseases you're good at causing them;

» if you're good at guarding your army, you're good at ‘stealing a march’
On your enemy.

So if you're good at guarding, you're good at stealing.

So if a just man (as already shown) is good at looking after money, he'll

also be good at stealing it...

| Soajustmanis a good thief.

(Obviously this is why Homer praises Autolykos for his skill at thievery and
oath-breaking.)

So justice must be ‘a kind of thievery...etc.’
Candidates need not summarise the argument in complete detail, but will

need to express it clearly, and its inadequacies, in order to show how S
leads P on.

[25]

Section A Total

[50]




Section B

Question
Number

Answer

Max
Mark

2(a)

2(b)(i)

2(b)(ii)

2(c)
2(c)(i)

2(c)(ii)

2(c)(iii)

2(d)

2{e)

Explain the grammar of the phrase sizdvros 8¢ 70D 'Opovrov
(line 1).

Genitive absolute [1] temporal sense [1] (ie Full answer to include
reference to use of participle, and to function of clause in sentence)

What part of what verb is yeyevijofau (line 2)7
Perfect (middle) infinitive [1] ytyvouou [1]

Why is this part used here?
Indirect statement

What verbs do the following come from:
npamoeyv (line 1);
EpwTdim

gknjyov (line 14);
gEdym

| mpooerdyon (line 14)?

RPOGTACO® | RPOCTATI®

Give an idiomatic translation of 1) yop avayxn (line 3).
Yes [1] for [1] | had to [1]... (yap must be fully accounted for, for full marks)

Translate lines 4-14 (§7 00V &v yévoo ... cvyyeveis) into English.

Remember that extra credit will be given for good English. Please write

your translahon on alternate lines.

1 811 ovv av ysvo:o 0 s,uco aé'ax’tqbw noﬂ.sytog, spo: 58 pidos rcou moTos;

20 68 aﬂsxp:varo, “obS &f yavo:,ur_tv @ Kups ooz yav note &t b'oéaqut

3 :rrpog tabto Ko 0pos EinE 101 TAPODOY, “0 UEV AVTjp TOIADTOL HEV
ﬂ&'ﬂ'O.'.T)KE rozaura 8¢ ﬂ,sysz

4 u,uaw 3¢ ov ﬂpco‘cos, ) Kﬁw:apxs a:roqbnvat yva),unv 8 i oot Sokel.

5Klaapxos 5¢ eine m&s ouuﬁouﬂauw 37/0) 10V dvdpa tobToV
smrociaw n‘o;szoeat a)g raxto":a Snws unxén 5én tobrov gvAdrreotai.

6 raum 8¢ 7} yvcoun Kol ol dAlot mocs@evro

7 ysm ravm xe}.suovros Kvpau s/'Laﬁov s c_‘,’a)vns 10v 'Opoviav eml
Bavarp dmavies GVOCTAVIES KOl Ol OUYYEVETS.

The passage has been divided into 7 sections, each worth 4 marks. Please
write the marks awarded for each section in the body of the script, at the end
of the section. Draw a vertical line through the text to indicate where each
section ends. Add up the sectional marks to give a subtotal out of 28, add
marks for fluency of translation to give a total out of 30. Write the total in the
right-hand margin. Ring the total.

(2]

[2]

[1

[1]

[1]

[1]

[3]




Section B
Question Max
Number Answer Mark
2(e) Marks for each section should be awarded as follows:
cont’d ' [4] Al or almost all of the meaning conveyed (as agreed at Standardisation)
[3] Most of the meaning conveyed
[2] Half the meaning conveyed; the rest seriously flawed
[11  Very little meaning conveyed, or isolated words known
[0]  No elements of meaning conveyed; no relation to Greek at all
N.B. Consequential errors should not be penalised.
Marks for fluency of English should be awarded as follows:
[2] Expressed fluently and stylishly. Consistently successful
improvements on a literal translation
1] Occasional improvements on a literal translation
[0] No or very little improvement on a literal translation
[30]
2() énel 8¢ €idov ... Bavarov &yorro (lines 14-16):
2(F)(i) what surprising fact is Xenophon remarking on here?
Qrontas’ former subordinates still bow to him [1] even after he has been
J-condemned. [1] [2]
2(H)(ii) suggest why he remarks on it.
¢ Persian disciplineg,
o perhaps, subservience.
(Any sensible answer should be credited) 1]
2(g) énel 8¢ els ... égavn (lines 16-20); show how in these lines, by use of

language and content, Xenophon emphasises the mystery surrounding
the fate of Orontas. Make three points and refer closely to the Greek in
your answer.

¢ Many negatives;

+ no one this, no one that...;

¢ guesswork;

e &Alos dAws;

e no tomb.

2 marks per valid point well made.

6]




Section B -
Question Max
Number Answer Mark
3 6 pév [ov] K/Ieousvns, TaDTA g;ggg)y oucabs [5] v anti, v subord,
navnibsy, o 8¢ A,ozomyo,oas avTd EOmETO. v comp verb
todrov 8¢ ﬂpOS‘ OV OIKOV a(ﬁzx:o,usvou )
K/’Lsopsvng S’CU}(F raiov peta tis Buyapds,  [5]
reudos & obons. v’ syntax
aumv odv zﬁwv o Luav] ApLorayopag nmag v ordet/emphasis
rov KAsouévn éxméuwen ive autd SiadeyOein 5]
OV, v order/emphasis
O 88 K&soyavng adtov éKSMUO‘SV glnety 0 1 5 v idiom
BobAoiro, Ths. Kudos RapoLoTs. 151 v syntax
& odv "Apiotaydpas adtov Ernsipadn yonuaot (5]
neioc tols  Toor Bondnoot
Kaz 100 KAgouévous odk £0£Aovros, nAsioveal (5] v"syniax
vméoyeto.
gEaipvns S ﬁonaaoa n ﬂazs “O ﬂafsp éqbn, v idiom
“Set 08 e000s 8EeABsTY, pif o GiaOeipn O 51
Eévos.” v“order/emphasis
- ~g§n/wgv obv 6 Kﬂeousvns, dore Tov v order
A,ozmayopav ESer ano ths Endps aneAbelv 5]
OUSEY TOoUVTCL. v’ idiom
8x5=40 + max. 10 style marks
Marks for individual sections should be awarded as follows:
I [5] Al or almost all correct (as agreed at Standardisation)
[4]  Minor errors in accidence or syntax
[3] More serious errors in accidence or syntax
[2] Accidence/syntax seriously faulty, but not without sense
[1] A very small proportion of correct accidence/syntax
[0] No recognisable relation to the English
Style Ticks
The above are only suggestions. 8 marks are available for particularly
effective Greek usage, which might include idiomatic subordination,
particularly felicitous vocabulary and word order.
2 of the remaining 10 marks to be awarded for correct breathings:
[2] all correct, or one error;
[1] 2 or more errors. [50]
Section B Total | [50]
Paper Total | [100]




Assessment Objectives Grid (includes QWC)

Question AO1 AO2 Tofal
1(a) 10 15 25
1(b) 10 15 25

20r3 20 30 50
Totals 40 60 100
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